Opérations avec deux fractions mixtes (I)

Nom:

®

10.

Date:

Calculez chaque résultat.

53+25 =
55 +25 =
13%5¢ =
55-2% =
shxa
52-3; =
5§+4%=
hxid -
5%—1% =
S5+23 =

Note:
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Opérations avec deux fractions mixtes (I) Réponses

Nom:

®©

10.

Date: Note:

Calculez chaque résultat.

3t =3t S9t9 = 9 = 7
1 2 46 8 46 24 70
- 4+2—- = — - = — = — = —
59+ 3 9+3 9+9 9 79
1 1 4 26 104 14
I3x55 = 3X5 = 75 T %
1,2 1 12 S5 24 3,1

5 2 10 10 10 10
1 2 16 7 112 7
3%l = 3X5 = 35 T s

1 50 10 50 30 20
37397359797 9 T %4
3. 23,63 23 13 299 47
4° 713 4 13 4 763 252 252
1 4 36 23 828 30
X = 79T 133 T o133
2 1 17 3 34 9 25
3137355767 % T %
7 3 47 11 47 22 69 5
Bt T te Tty T % T 8%
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